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QUESTION 1

It is determined that the Migration Assistant will be used to migrate from vCenter Server 5.5 on Windows with an
external instance of Update Manager to a vCenter Server Appliance 6.5.

Which option is correct in regard to migrating Update Manager?
A. The Migration Assistant must be run on vCenter Server first and then on the Update Manager server.
B. The Migration Assistant must be run on the Update Manager server first and then on vCenter Server.

C. Migrating Update Manager from legacy versions of vCenter Server to a vCenter Server Appliance 6.5 is not
supported.

D. The Migration Assistant can only migrate local instances of Update Manager to the vCenter Server Appliance 6.5.

Correct Answer: B

QUESTION 2

What new feature is introduced in NFS 4.1 on ESXi 6.5?
A. Storage DRS

B. KRB5i

C. IPv6

D. AUTH_SYS

Correct Answer: C

QUESTION 3

Assuming a mirrored (RAID-1) object configuration, how may hosts must contribute storage in a non
stretched VMware vSAN cluster to satisfy the "Number of failures to tolerate" policy option?

"n" is the desired "Number of failures to tolerate" value for all options.

A.3n

B. 2n

C.2n+1

D. 2n+2

Correct Answer: C
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QUESTION 4

Which guest operating system supports PVRDMA?
A. Linux (32-Bit)

B. Linux (64-Bit)

C. Windows (64-Bit)

D. Windows (32-Bit)

Correct Answer: B

The guest operating system that supports PVRDMA is Linux 64 bit.Guest OS Linux (64-bit)

QUESTION 5

An administrator is investigating virtual machine performance issues using ESXTOP. The ESXi host does not have
hyperthreading enabled.

Which statistics would be relevant for troubleshooting VM performance issues?
A. %RDY

B. %IDLE

C. %RUN

D. CORE UTIL(%)

Correct Answer: A

2V0-622D PDF Dumps 2V0-622D Exam Questions 2V0-622D Braindumps

2V0-622D PDF Dumps | 2V0-622D Exam Questions | 2V0-622D Braindumps 3/3


https://www.pass2lead.com/2v0-622d.html
https://www.pass2lead.com/2v0-622d.html
https://www.pass2lead.com/2v0-622d.html
http://www.tcpdf.org
https://www.pass2lead.com/2v0-622d.html
https://www.pass2lead.com/2v0-622d.html
https://www.pass2lead.com/2v0-622d.html

